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[This question paper contains 8 printed pagesll2.ldentify and explain any two of the following
fallacies : 4x2=8 I

Frqfrfua q t B-€ A ilffi d saqlBq deIT
6ffi qyql dlftq :

(i) There is no proof that by fasting you carl
save the life of somebody, therefore wA
conclude that fasting is a waste exercise.
q6 ks r-fr t fu, ilf, r:qi fr qq ffi +1
qrq Ezn €-fia a | s{f,: 6EI qE FrH FIsrf,A
B B a-a {q"il atef 6rq t r

iii) Whenever I wear blue shirt. I do bad in my
exam. Therefore blue shirt is the cause of
my bad performance. (

{s fi q fldr 6{-q c-6c-fr { t qteTr fr q<rq
+-cfi ir orc: {d ryfl-q qt q{r< c-Eeh sr
e6Rur B I

(iii) He is big person because he comes from a
big country.
{€ q.sr q'k B qd'fu +e € tsT t e{rf,r A I

(iv) Consuming excessive tea increase nicotine
in the Uody. tt is false because I consum(
excessive tea yet there is no nicotine in
mybody.
erfer+ qrq fi-tr erfu E ffift{ d qrer qaror
B r qa ertrs ts erqlfu q sfcr+ qrq fi-ff E.

Rr€ at rrt-t fr ffiffq erfs+ qr+r i c-fi B r .

8 900
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Instructlons for Candldates :

(a) Write your Roll No. at the top immediately
on the receipt of this question paper.

{fi qe;T Er{ + Frf,a fr sw Rc nc RefRd
{eIr;T trt e+v-"n wgrri+ Rfu< r

Answer may be written either in Engllsh
or in Hlndl; but the same medium should
be used throughout the paper.

(b) {rr c?q-qi{ .fl srr< etM zii F€ ffi ft
qd5 qrqr fr Afrc, ifu-< n* sf,( \rd6 A snsr
fr 6ri eftc r

(c) Attempt all questions.

rfr slq frfrq r

P.T.O.
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Attempt any three of the following :

4x3=12
ffifuo q fr E d fi-< .ar sf,( {frq :

(i) Explain and illustrate the distinction
between sentence and proposition.
qzFr ilfi cftflk { sia-r fr s-<r5q"1 q.tr(
qRery dBq I

(ii) Deductive arguments are valid/invalid,
whereas inductive arguments are good/
bad. Explain.

lq.rqcrtq+ gP+cvi Q"r,rerQ"r B, q-ql+
qrr[cr;tlrqs gffi ct-d,/qflEl a I qrcql
dftc r

(iii)Some valid arguments have false premises
and true conclusion. Discuss in the context
of truth and validity.
go tq gfum S €r€rfl BnerrrEFrr <Terr ser
M +f,r t r rrsf,r efu tcrf,r * riq{ q
fttqrT dftq I

(iv) Elaborate and illustrate the distinction
between an argument and an explanation.
gk ew qpql g sic( sT crffr{vr HBf,
B'ffrr dfrq I

2

lO.Is it possible that a valid categorical syllogism
is without the distribution of a middl; te;m ?
Explain and illustrate. 5
zetT T6 firq t fu g+ tq qrqgk q?qq qq
srqrq t ? uqrfi"r qfo6 qrccT dftql

OR
qetqr

Prove that the conclusion must be particular
in 3'd figure.

R'rG qiec fu E-fiq €rz6rc E Frw{ eiqraffi A-il
orrqrq+ t r

l l.Explain and illustrate any two of the following

informal fallacies :

hqfrfuc er'M'-6 ilqffislq fu;ff Ad €)qr6{"r
qraqr d&g :

(i) Argument ad hominem
qktrr+. n-qffiq

(i i) Complex question
B<T CPq

(iii)Argument ad popular
dqec n-fis

7 P.T.O.
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(i)

(ii)

No mathematicians are poets, as all
mathematicians are intelligent and some
poets are intelligent.
+t{ qtrrf,fl 6A q-fr t, rr"ff TFrd-a qfsqm ts

d"rr gu ffi gkrrt =rff Br
Some rich people are not successful men,
and all professionals are rich people,
therefore some successful men are not
professionals.
qE trff afu qm-6 q-lq rfr E, sfu €:i
SYR]-q-( -rff q'k B, oro'"gs rsd q-gq qah{
T6I tsI
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2. Attempt any three of the following :

4x3=12
Frqkko q A ffi ftc +T sor fifrs :

(i) How is the 'extensional' meaning of a term
different from 'intentional' meaning ?
Discuss.
B-€ c-SR qd6 qc qfi ,ffiq1-rqq, e{pi s11+

erei t m;r B ? EA-d{r frFq I

(ii) Discuss any two types of definition with
examples.
st{ m fr rfiR fr qRanqr z61 8ff6{sr Hffi
Fr}q-qr dtqq I

(iii)What are the three basic functions of
language ? Explain.
qmr fr fiq ffft6 HT-4 EFTr A ? arcqr frBq 1

(iv) Discuss with examples the agreement and
disagreement in belief and attitude.
sffE(gr siAr Rrerc c?i q-+rrE + frsq q
r{6qfr s}( srffdqR +,r Er?q-tr dBq r

3. State the contrapositives of any two of the

1!x2=3
2

iffi*+r

8. Using Syllogistic rules and fallacies, test of the
validity/invalidity of any one of the following.
J

qqqk + Rqq snT ilffi 6r c-+{ s-{a ac
Frqften q t B-{ff tr+ fr }erarzsr}{f,r fr cfu
dt&q :

(i) EAE-rr
(ii) Arr-rv

9. Test the validity/invalidity of the following by
Venn Diagram (any two) : 8
FrqR&( fr iqor,zertqor fr q0m aq-s{r{fd
ar<r d&c (ai{ A; ,

(i) Ero-r
(i i; e,q6 - ,r,
(iii) EAo-rr

(

following propositions :

FrEfrfud cR-d.kql (ilq','4rd)
eftrqRq-f{ fifrq :

6 P.T.O.
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(i) No terrorist are patriots.
+{ .:n<i+qTfr trnr< q-ff t r

(ii) All patriots are honest.
rrst ?sTqfr gqrTqR t r

(iii) Some students are not hard working.
go kfleff qRarfi q-ff E r

4. If 'All voters are citizen' is true, what can be
inferred about the truth and falsity of the

2614

OR
eTelqt

Write a short note on Existential Import.
TrKntrra6 arsd qr rihq frq"ft ftfuC r

i. Translate the following into standard form
categorical propositions (any three) : 3
frqftke d q{+ qms qFrrr ksrniq-+ d-ffi{ ergqrA-o dfrq r (+t$ ft-c) ,

(i) Only students are allowed to sit for the
examination.
+{d fuqreff + & qffsTr q H qi orgrh t r

(ii) Not all students are enthusiastic.
Hfr fuffff serr& -r& E r

(iii)A few trees are tall.

TP rt-+ n-s eQ Hr
(iv) Cats are never rats.

ffi EFfr fr Aor r& Br

7. Reduce any one of the following into their
standard syllogistic form and test its validity/
invalidity using the rules of syllogism i

5
frqRfu( q t ffi q's d sff+ otffiq; rlpa+'
qFFR E R@ o,:n qrqgk + fuqr,:t * rrrr,r t
srrqi ttrarzqtr;1.,s .;f;ffi ;

following proposition (any two) :

qR 'nfr q6qrar nrrR-s B, rre t fr 6qp6.
9{]@ fr rrsar *i crrrsar z6r sqqrq GaTr{q I

(+$ a; ,

(i) Some voters are non-citizens.
gE EfrErfl 31-q-1ft.D. ! I

(ii) No citizens are voters.
d{ qFrR-6 q6qrf,r rfr } 1

(iii) Some citizens are not non-voters.

w fl'rFad q-a6qfilr r-& $ 1

5. Distributions of terms plays a vital role in
deciding the validity and invaliditv of a
syllogism. Discuss. 4
;qqgk +1 ttrcn,uertwr F{ertT,r +-G q qd mqrk q6 Tq ,{q-cFr qTeFr $-{flr t r R?-qqr dfrq r
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